O £4: YEolE 36x + 97 = 457(cm?) ©]A].
@ €Al ofyoF @Yol 127 — 61 = 67( cm?) T,
® F9: FElolE 1207 — 607 = 60n(cm?) e},
@ g : obz], FH ol 180r + 90m = 2707 ( cm?) OF.
@)% 24, ) AR ol 234w em? Lok,

@, @ BYolE 367 - 91 = 27x( cm?) ot}

®, @ F4lol+= 1207 + 607 = 180n( cm?) o]t}

6cm
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517 cm?

e =32 A4 [ & A= 7 dho] AN LS uf, A=
3

~&B

() = (7] 23) 4 (D752 )

+(YEo] Ha)
1 4
=-X-ax3+rx32%x3
21 3
= XX 3% X2
= 187r+277r+677:51”(m3)




3.

the 23} 2ol 12 H7} vlo] G AA=Ge] Fyol?

10cm
/I
/
F—8cm—
@ 1207 cm? @ 1247 cm? ® 1407 cm?
@ 1447 cm? ® 148rcm?

YA Yol 7 x (42 - 22) = 127( cm?)
AYolE12rx2+ 27X 2% 10+ 27 X 4 X 10
= 247 + 407 + 80m = 1447 ( cm?)
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F—8cm—
(&
6cm
/
—
4cm
@ 96w cm? , 247 cm? @ T2ncm? |, 727 cm?
(@)9671‘ cm? | 727 cm? @ 727 cm? |, 967 cm®

® 96 cm? , 967 cm?

il

S =2x(7x4% -1 x2%) + 871X 6 + 47 X 6 = 967( cm?)
V=nx42x6-mx2%x6="T2r(cm?)




O A= Fue?

[«6cm>«—10 cm—f«—8cm—|
\\ \
\ \
| 1
! |
1|J 4/6 em| I, i
// 6ecm\\{ 7~ 10cm
O 2407 cm? @ 360rcm?® ® 5007 cm?
@ 5427 cm? @6007r cm?

1 % 5 1 4 2
gxrrx6 x 8| + (mx 6% x10) + §X§an6 = 967 +

3607 + 1447 = 6007( cm?)




